## **PARAMEDICAL LABELS** of Coon...kamonga, Inc.

## Custom labels must be ordered by phone, fax or email. This guide is provided to get you started...or just call for assistance!

1. Choose the size label you need from the following pages. If you need a thermal label, choose from the "Thermal Printer" sizes and cost section.												
2. Select a "directions #" from the samples shown under "Custom Labels" on left column of our home page, or write your own.												
3. Choose from our collection of stock logos, or email us you <mark>r custom</mark> logo.												
4. The price list on page four will help you determine the cost.												
5. Call or fax us with your layout. I pick label size R-8												
EXAMPLE: Stock logo #016 Please use We'll print this: Rx "directions" #19 FARM & RANCH MOBILE HOSPITAL Phone: (402) 555-2205 M												
FARM & RANCH MOBILE HOSPITAL P.O. Box 2025 • Lincoln, NE 68502 Phone: (402) 555-2205 We Come To You! INK   DATE: DRUG: <t< th=""></t<>												

Prices on the next page are for custom printed labels on white, non-glossy, pressure sensitive label paper with one ink color (your choice of red, blue or black). Please note special sizes and price section for thermal labels. For custom colors or larger quantities, call for a price quote.

**FOR 2-3 INK COLORS (Minimum order of 3,000):** Add 30% for each additional color up to a total of 3 ink colors. Add \$10.00 to printing plate charge for each additional color.

**SPECIALTY PAPER:** Add 30% to price list for Fluorescent paper color, Gold or Silver Foil paper, Clear Mylar and Vinyl stock. Add 20% for Laminating.

**ONE-TIME PRINTING PLATE CHARGE (per label copy):** Your label is printed using a one-piece plate. Any change requires remaking the whole plate. See printing plate charges on the chart. Note: Plates not used for 3 years may be discarded and a new printing plate fee charged. Orders cancelled after the label has been designed for proofing will be charged printing plate fee.

**PRICE BREAKS:** Price breaks for 3,000, 5,000 or 10,000 labels are for the SAME label copy in one continuous run.

(530) 626-5741 • (800) 622-7009 • FAX (530) 626-1808 P.O. Box 199000 • Diamond Springs, CA 95619 getlabels@paramedicallabels.com

## **CUSTOM PRINTED PRICE LIST**

RECTANGLES	SIZE (inches)	PER 1,000		PER 3,000	PER 5,000	PER 10,000	Printing Plate Charge	Printing Plate w/Custom Logo
R-1	1 <sup>1</sup> / <sub>2</sub> " x <sup>3</sup> / <sub>8</sub> "	\$31.78	3 \$2	3.59/k = \$85.77	\$24.32/k = \$121.60	\$19.43/k = \$194.30	\$11.00	\$26.00
R-2	13/ <sub>4</sub> ″ x 7/ <sub>8</sub> ″	\$37.09	\$33	.37/k = \$100.11	\$28.37/k = \$141.85	\$22.71/k = 227.10	\$11.00	\$26.00
R-3	2 <sup>1</sup> / <sub>2</sub> " x <sup>7</sup> / <sub>8</sub> "	\$40.72	2 \$36	.66/k = \$109.98	\$31.16/k = \$155.80	\$22.51/k = \$225.10	\$11.00	\$26.00
R-4	3 <sup>1</sup> / <sub>2</sub> " x <sup>3</sup> / <sub>4</sub> "	\$43.47	<b>'</b> \$40	.34/k = \$121.02	\$34.29/k = \$171.45	\$27.44/k = \$274.40	\$11.00	\$26.00
R-5	3″ x 1″	\$46.74	\$42	.17/k = \$126.51	\$35.84/k = \$179.20	\$28.68/k = \$286.80	\$11.00	\$26.00
R-6	2″ x 1¹/2″	\$46.74	\$42	.17/k = \$126.51	\$35.84/k = \$179.20	\$28.68/k = \$286.80	\$11.00	\$26.00
R-7	2 <sup>1</sup> / <sub>2</sub> ″ x 1 <sup>1</sup> / <sub>4</sub>	″\$46.94	\$42	.24/k = \$126.72	\$35.91/k = \$179.55	\$28.73/k = \$287.30	\$11.00	\$26.00
R-8	2 <sup>1</sup> / <sub>2</sub> " x 1 <sup>1</sup> / <sub>2</sub>	″\$50.94	\$45	.84/k = \$137.52	\$38.96/k = \$194.80	\$31.16/k = \$311.60	\$16.00	\$31.00
R-9	2 <sup>3</sup> / <sub>4</sub> ″ x 1 <sup>3</sup> / <sub>4</sub>	<sup>″</sup> \$54.60	) \$49	.15/k = \$147.45	\$41.78/k = \$208.90	\$33.42/k = \$334.20	\$16.00	\$31.00
R-10	3″ x 2″	\$61.11	\$54	.99/k = \$164.97	\$46.75/k = \$233.75	\$37.40/k = \$374.00	\$16.00	\$31.00
R-11	4″ x 2″	\$67.25	5 \$60	.54/k = \$181.62	\$51.46/k = \$257.30	\$41.16/k = \$411.60	\$21.00	\$36.00
R-12	4″ x 2¹/2″	\$76.87	7 \$69	.18/k = \$207.54	\$58.80/k = \$294.00	\$47.03/k = \$470.30	\$21.00	\$36.00
R-15	5" x 3"	\$95.56	5 \$86	.02/k = \$258.06	\$73.11/k = \$365.55	\$58.49/k = \$584.90	\$26.00	\$41.00
SQUARES								
S-2	4″ x 4″	\$97.17	7 \$88	.35/k = \$265.05	\$79.51/k = \$397.55	\$67.58/k = \$675.80	\$26.00	\$41.00
OVALS								
O-1	1 <sup>1</sup> / <sub>4</sub> ″ x <sup>3</sup> / <sub>4</sub> ″	\$31.78	3 \$2	3.59/k = \$85.77	\$24.32/k = \$121.60	\$19.43/k = \$194.30	\$11.00	\$26.00
O-3	1 <sup>1</sup> / <sub>2</sub> ″ x 1″	\$37.09	\$33	.37/k = \$100.11	\$28.37/k = \$141.85	\$22.71/k = \$227.10	\$11.00	\$26.00
CIRCLE								
C-1	3/4″	\$31.78	3 \$2	3.59/k = \$85.77	\$24.32/k = \$121.60	\$19.43/k = \$194.30	\$11.00	\$26.00
C-2	1″	\$37.09	\$33	.37/k = \$100.11	\$28.37/k = \$141.85	\$22.71/k = \$227.10	\$11.00	\$26.00
C-3	11/ <sub>2</sub> ″	\$46.74	\$42	.17/k = \$126.51	\$35.84/k = \$179.20	\$28.68/k = \$286.80	\$11.00	\$26.00
C-4	2″	\$50.94	\$45	.84/k = \$137.52	\$38.96/k = \$194.80	\$31.16/k = \$311.60	\$16.00	\$31.00
C-5	2 <sup>3</sup> / <sub>4</sub> ″	\$54.60	\$49.	15/k = \$147.45	\$41.78/k = \$208.90	\$33.42/k = \$334.20	\$16.00	\$31.00
DIN	SIZE	BACKING			5 ROLLS OF 1.000	10 ROLLS OF 1.000	Deintin - Diete	Printed with
PIN FEED	(inches)	PAPER I WIDTH	ROLL OF 1,000	3 ROLLS OF 1,000 = 3,000	5 ROLLS OF 1,000 = 5,000	= 10,000	Printing Plate Charge	Your Custom Logo
CP-3	2 <sup>1</sup> / <sub>2</sub> " x <sup>7</sup> / <sub>8</sub> "	31/ <sub>2</sub> ″ *	\$45.53	\$40.99/k = \$122.97	\$36.89/k = \$184.45	\$33.21/k = \$332.10	\$11.00	\$26.00
CP-7	2 <sup>1</sup> / <sub>2</sub> " x 1 <sup>1</sup> / <sub>4</sub> "	3 <sup>1</sup> / <sub>2</sub> ″ *	\$52.40	\$47.16/k = \$141.48	\$42.45/k = \$212.25	\$38.20/k = \$382.00	\$11.00	\$26.00
CP-9	2 <sup>3</sup> / <sub>4</sub> " x 1 <sup>7</sup> / <sub>16</sub> "	31/ <sub>2</sub> ″ *	\$60.49	\$54.46/k = \$163.38	\$49.00/k = \$245.00	\$44.11/k = \$441.10	\$16.00	\$31.00
CP-95	2 <sup>3</sup> / <sub>4</sub> " x 1 <sup>3</sup> / <sub>4</sub> "	31/ <sub>2</sub> ″ *	\$63.89	\$58.35/k = \$175.05	\$52.51/k = \$262.55	\$47.26/k = \$472.60	\$16.00	\$31.00
CP-10	3 <sup>1</sup> / <sub>4</sub> " x 1 <sup>7</sup> / <sub>8</sub> "	4 <sup>1</sup> / <sub>2</sub> ″ *	\$69.14	\$62.23/k = \$186.69	\$56.02/k = \$280.10	\$50.40/k = \$504.00	\$16.00	\$31.00
CP-14	4″ x 2 <sup>7</sup> / <sub>8</sub> ″	4 <sup>1</sup> / <sub>2</sub> ″ *	\$92.06	\$82.88/k = \$248.64	\$74.59/k = \$372.95	\$63.32/k = \$633.20	\$21.00	\$36.00

Blank & stock printed pin feed labels available- please call for info.

## **CUSTOM PRINTED THERMAL LABELS**

THERMAL PRINTER	SIZE (inches)	2 ROLLS OF 500	6 ROLLS OF 500 = 3,000	10 ROLLS OF 500 = 5,000	20 ROLLS OF 500 = 10,000	Printing Plate Charge	Your Custom Logo
TL-10	2 <sup>3</sup> / <sub>4</sub> ″ x 1 <sup>3</sup> / <sub>4</sub> ″	\$71.83	\$32.33 ea = \$193.98	\$29.10 ea = \$291.00	\$26.19 ea = \$523.80	\$11.00	\$26.00
TL-20	2 <sup>3</sup> / <sub>4</sub> " x 2 <sup>1</sup> / <sub>8</sub> "	\$71.83	\$32.33 ea = \$193.98	\$29.10 ea = \$291.00	\$26.19 ea = \$523.80	\$11.00	\$26.00
TL-35	3 <sup>1</sup> / <sub>16</sub> " x 1 <sup>13</sup> / <sub>16</sub> "	N/A	\$32.33 ea = \$193.98	\$29.10 ea = \$291.00	\$26.19 ea = \$523.80	\$11.00	\$26.00
THERMAL PRINTER	SIZE (inches)	4 ROLLS OF 400	8 ROLLS OF 400 = 3,200	12 ROLLS OF 400 = 4,800	24 ROLLS OF 400 = 9,600	Printing Plate Charge	Your Custom Logo
TL-45	3 <sup>1</sup> / <sub>2</sub> " x 1 <sup>15</sup> / <sub>16</sub> "	N/A	\$32.33 ea = \$258.64	\$29.10 ea = \$349.20	\$26.19 ea = \$628.56	\$11.00	\$26.00





